
DO	
  NOW	
  
PARTNER PROBLEMS 

• Work	
  in	
  pairs	
  as	
  Partner	
  A	
  and	
  Partner	
  B	
  on	
  
your	
  assigned	
  problem	
  as	
  stated	
  here:	
  

A:	
  Robin	
  took	
  out	
  a	
  $9000	
  loan	
  over	
  4	
  years.	
  	
  
The	
  monthly	
  payment	
  was	
  $200.	
  How	
  much	
  
interest	
  did	
  she	
  pay	
  for	
  the	
  enIre	
  loan?	
  

B:	
  Julia	
  has	
  $1000	
  deducIble	
  collision	
  insurance	
  
on	
  her	
  2002	
  SUV.	
  	
  She	
  backed	
  into	
  a	
  light	
  pole	
  
and	
  caused	
  $1600	
  worth	
  of	
  damage	
  to	
  her	
  car.	
  	
  
How	
  much	
  of	
  this	
  will	
  be	
  paid	
  by	
  the	
  
insurance	
  company?	
  


